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421 [4A—AFVF o AF®H —2—F
122 | T=) NS 527 527
423 [ AFATI 0.0007 0.0005 0.001
124  AFN=AIFFLT F—h 25,120 25,120
425 AV TaWNT
126 | INRTT
427 AU 2,395 179 2,574
428 | T=)THINT 478 212 690
429 [/~\pRLTay ATV 235 235
430 AL REXY AT 178 178
131 |7/ F U ARIE Y 2,742 2,742
432 |[7INTR 60 60
433 | H—/ A 550 550
434 [ AF YL 238 238
435 BV NI AT 47 47
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
138 AFNFTHLL 7.3 441 0.69 0.063 449
439 [3—AFLEVVL
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HAREZR 10 HEHTERI - 1 Gk P BRI O Pk H e A CTARBOMEE - HERS IR (1. St SRR 2 Lo 90 DO 92 Y)0) LL T~ 23, 2 S BEREYIE It 25 |

XA AEEHEH 5 (kg/4E, X A4 FIdmeg-TEQ/4F)
e 1 2 3 1 5 6 7 8 9 10 11 12 13 11 5 [ 16 | 17 18 19 20 21 ﬁi}%ﬁ E%z)%ﬁ
| WA, HEHRD | e | g | TR RV AL B | W= im0 ~ FREE .. | B | % | AVUR | A | SEs ks K - it

&5 wrfor| mo | s e WO TRHELE DRSS RGER ) wae | e A0S e G RE ke gl U0 Sl T e it

1—AF ) —1—Txz=)L=F )L =bRa~
a0 220 0.008 0.009 0.017
441 2— (1 —AFLTEEN) —4, 6—V=Fr

Jx/)—)v
442 A7 m=)v
43 AL 2,721 2,721
444 NZ7aXk L AREEY 344 344
45 JLIRVLAF L 565 565
446 4, 4 —AFLLIT =)
7 ATV ERE, 1= rmnE i) =T

AV T H—]
448 é?tfx(“' 1=Z=2b) =UAYy 35 0.069 35
449 [T ATAT 7
150 CUTTANT 147 147
151 2— Ay —B—AFAT =
152 2 ANHT AT FT T 0.85 0.85
453 EVT T R OZDILA 3.7 130 1.3 135
454 2— (BN JOFH) _UTF T =L 0.1 0.11
455 E/R) 1l 20 31
156 DANLTAI=0 4 550 550
157 | VUBARA 913 913
458 [DAMBERIA (2 —=F L~FT L)
159 DAFENIA (2~ yan=F L) 0.10 0.10
460 |V AMERI RV 3.0 3.0
461 WABRN) 7 ==L 29 18 47
462 WABEN— )V~ N— T F )V

= 7 830,737) 2,123,983 4042 14170 320,533 0 1,017.086] 99,576 53.619. 13,462 1,237,575 17.014] 84315 92.321 1,187 2.416 138,151 179 71551 3.076] _ 1.705| 6.057.678
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